AtLiz@E

T F & # SHAEE BAKEMRIE
TEEHMA fRET™ _EERRIRF
TEBMRUOSEHREMN | KEREE A#h- Bk - C#
TEHME BKEMEZT
RIRER 1=120.0m [KERBY 15418585 E (DIP) ]
DIP GXf2 9 75 L=120.0m, {Et1HF 75 N=1F
T HA ZHOEMNHHSE2HTITBET
A B & —fi&FRE AL AfLBBF SH4E11H248  FRI9E35%
ARE AMLEH £10E %20 £ 1ERER F2ERR &%
BAREE (F) 5, 900, 000 <L
(B)KEITE 5, 900, 000 <L
A |\ MHITHER 5B
BEREE (%) 5, 900, 000 <L
EEER (B) 5,910, 000
W oFv< 5, 890, 000 £k
L |(@®EEKR 5, 900, 000 <L
(B) SH ITHMH 5, 900, 000 AL <L
ZEEE ) 5B
7
&

LEREERBEICHZEHEDIDDI0CHLYT HHEEME L -RENEELOALELETHS

EALREEE  (86.89%) 6,490,000 M| ¥ F ffi & 71,469, 000 M
N | AtLEEHEE 5,900,000 M| & & #| R il 4% 6, 490, 000 FH
iR 10710048 5%8 590,000 M| EAFLRE (K4%) EZE(H1% — A

EILERS (B SHIFBH

RHERBAHIAEHH6553-5




